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Achievement 

No part of the candidate’s evidence in this exemplar material may be presented in an external 
assessment for the purpose of gaining an NZQA qualification or award. 
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Achievement 

Subject:  Digital Technologies 

Standard:  91898 

Total score: 03 

Q 
Grade 
score 

Marker commentary 

Artificial 
intelligence 

(AI) 
A3 

The candidate provided more than one suitable use for AI in self-checkouts, 
explaining the advantages retailers would have in loss reduction and a benefit 
to the user. The candidate chose to give two suitable challenges to AI. 

The candidate went through the responses of the chatbot and described what 
occurred, and then provided a suitable summary giving a basic justification of 
why this is a weak AI. 

The candidate gave a reasonable explanation of the Turing test and a 
justification for why they believed it was still suitable. 

The question asked for examples (plural). The candidate gave one suitable 
ethical issue, so this response did not meet the requirement for a higher 
grade. 

Overall, the candidate produced good answers to the questions. To gain a 
higher grade, they would have needed to read the questions carefully and 
answer them in greater detail, and with the required responses. 
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